Worksheet Maths 3™ ESO

SIMILARITY

1. Use similar triangles to find the sides marked with letters.
a) 25 m

2. Calculate de lengths of x
and y in the diagram shown:

3. Find the height of the trees.

2N

1.20m 18 m

20 m
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SOLUTION
1. Use similar triangles to find the sides marked with letters.
a) 25 m

15 m

Jem 4 cm /
18 cm l. rd
b)
a) b)
12 18 12 vy x 15 25
22 18 o x—bem: =Y x- _25 15-1om X-15_25
4)<—>x6cm43—>x9cmy55Omwloz
z=%:16.67m; x2 =152 1 252
x = /850 = 29.15 m
2915 _15 _ 5915-15w —w=19.44m
w 10

2. Calculate de lengths of x
and y in the diagram shown:

8_x_Y
4°3735
§:5:>x=§=6cm
473 4
8_vy . ,_28_
4735 Y g em

3. Find the height of the trees.

x _10
20 50

200
20m =7 _ 4
X 50 m
The height of the
treeis4 m
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X 18

160 1.20 /-\/_\
18-1.60
- _24
*“T120 T
The palm tree is 24 m tall ‘ %

1.20m 18 m




